log AY/Y)

log (Y/AY)

LABJNDu9-Dreieckshelligkeit t*
Yn=Yw nc=100,

t*LABINDU9 =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, ()
t*(3.6)=146 1+ ,(18)=332,t* (90)=517

rgo_51,,21 s
t* 167352,22, A =0 307,152
3116, 11 by=3: 23 Y,
L]

LABJINDu9
Normfarbwertdifferenz
Yoc=Yw nc=100,
L ABINDU9=[IN[(A 10+A2nY)V/(A 20A 0n)] (Ya/100<Y<=Y,)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pes1,5, Aon,a=1,0, siehe CIE 230:2019
dYge=0,79, P()n 1,500, ¢=0,42

dY;=0,16, A =0,007, A,~-0,0058
dY36=0,04 Y,=18, dY=",16

* =332 dY,=0,16 dY,.

Anwendungs-
bereich

ly,=18
YN=36  Yy=90

LABJINDu9
. Normfarbwertemfindlichkeit
SHEYY Yoc=Yw - nc=100,

L aBINDU9 =[IN[(A 1 +A2)I/(A 2nA0n)] (Yao/100<Y<=Y,0)
AYIY=Ag A1 +AZYVY

(dY/Y}e=C,2088. A.=1,500, ¢=0,42
(dY/Y)g=0.0092, A=0,007, A,=0,0058
(dY/Y}6=0,,11A Y, =18, dY=0,16

- =
log(leY): 2,03 my, W_,_._.- — @;‘}’;.ec”d“”gs
=332, dY,=0,16 dY,/Y,=0, 0092l
I
1Y,=18
Ya=3,6  Yy=90

LABJNDu9
Normfarbwertkontrast
Yac=Yw - nc=100,
L aABINDU9 =[IN[(A 1r+A2V)I/(A 2nA0n)] (Yo 100<Y<=Y,0)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dYy=113,39, Ay=1,500, =0,42

(Y/dY)g=107,58, A=0.007, A,=0,0058
(YIdY} 85,65 ¥,218, d=0.16

C,=(Y/AY)

t*,=332 dY,=0, 16 Yu /dY =107
= .. ‘ N
log(Y/dY)=2,03 m,= o‘ou ;!
I Anwendungs-|
' bereich
'Y,=18
IN=2,6 1 Yy=90

LABJINDu9 relative Dreieckshelligkeit t*/t*,

t/t* u Yoc=Yw nc=100,

t*LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
t(3,6)=146 1 ,(18)=332,*,/(90)=517

U u=1.85. Ax=1.500, £=0.42

{29 =100, Ar=0,007, £,=0,0058

3 gt*(=0,43,t,=332,23 o1

log[t*/t* ]=0, m,=0,33

1 Anwendungs-|
1 bereich

1Y,=18

Iog(AY/AY )

IMN36 . Yg=90

LABJNDuS9 relative
Normfarbwertdifferenz
Dy Yoc=Yw - nc=100,

t*LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
AYIY,=AgfA 1 +AgYI/dY,

dYogfdY,=4,74, Ay=1,500,
Y,/ =0,007, Az =o,oo
dYsgdY,=0,25 V.18, dY=0.16

t*,=332 dY,=0,16 dY,/'(,=0 4092 ‘¢*

Anwendungs-
bereich

1Y,=18

log [AYY) I (AYIY),]

Yn=3.6  Yyw=90

LABJNDu9 relative

Normfarbwertempfindlichkeit
S/Su=OYMIAYY), yomy TS

t* LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
@YIYYAYY,=(AgAg Y)Y (AYIYY]
(AY/Y pof(AYy=0.94 Av=1.500, G=0,

42
(AY/Y)(dYVI=1,00, A7=0,007. A,=0,0058
(dY/Y% Y(AY/Y )7 75 Vo218, dY=0.16

log[(dY/YY(dY/Y),]=0, mu——O 06 1
t*,=332 dY,=0,16 dY,/Y,=0,0092} ﬁg‘;"éﬁ:”hdungs'

1y,=18

log [(Y/AY) I (YAY),]

YN=3.6 | Yw=90

LABJNDuO relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y . =y, =100,

t*LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
(VY Y(YIAY ) =Y IYIAY )T oA g Agr V) (Y/AY),

(Y/dYpo/(YIdY)=1,05, Ay=1,500, ¢=0,42
(Y/dY)g/(Y/dY)=1,00, A =0,007, A,=0,0058
(Y/dY} ¢(Y/dY)=0,79 Y,~18 dY=0,16

log[(Y/dY)(Y/dY),]=0, m/=0, .:-6- eanyn
t+,=332 dY,=0,16 Y 42207 1

1

1 bereich

1y,=18

el YW=90




